Whitman College

Econ 102

Exam 3

April 28, 2009

Write your answers on the exam.  Show all of your work.  The exam ends at 11:55.
1. Use the following information to answer parts (a)-(d).  

Consider the graph below, of the unemployment rate in the United States. The most recent information plotted on this graph is the unemployment rate for March, 2009.  In that month, there were 154,048,000 people in the labor force.  
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(a)  (10pts)  On the graph, add a curve that represent the natural rate of unemployment for the United States. 

(b)  (5pts)  Given your graph of the natural rate of unemployment, how much cyclical unemployment was there in the year 1989?  Explain how you found your answer.  

(c)  (5pts) How many people were unemployed in March 2009?  

(d)  (5pts) How many people were employed in March 2009?  

2.  Use the following information to answer parts (a)-(c).

Suppose that the money multiplier in a particular economy is 8.  In this simple economy, banks hold no excess reserves and the public uses checking deposits rather than holding any currency.  

(a)  (10pts)  What is the required reserve ratio in this economy?  

(b)  (10pts) If the Central Bank in this economy wanted the money supply to grow by $400 million, what exactly would the Central Bank do? 

 (c)  (10pts) Suppose now that there is one person in this economy who holds his money as currency rather than having it on deposit at a bank.  If this person decided to take all $600 of his currency and deposit it in a bank, what would ultimately happen to the total amount of deposits in this economy?  Be as specific as possible.

3.  (10pts)  Consider an economy in which real GDP grows on average at a rate of 2.6% per year.  On average prices grow at the rate of 1.2% per year.  Suppose the Quantity Theory of Money holds.   At what average annual rate does the money supply grow in this economy?

4.   The information below is the beginning of an April 16, 2009 Wall Street Journal article by Kara Scannell.  Consider this information when answering questions (a) and (b).

SEC Puts Ratings Firms on Notice

Wall Street Journal, APRIL 16, 2009, p. C6.

WASHINGTON -- Securities and Exchange Commission Chairman Mary Schapiro said the agency has "more to do" in regulating credit-rating firms, adding fuel to a debate that includes ideas such as changing the way firms are paid.  Ms. Schapiro on Wednesday said the performance of rating firms in mortgage-backed securities has "shaken investor confidence to its core." She was referring to criticism that firms gave overly optimistic ratings to mortgage-backed debt and were slow to make downgrades when defaults by homeowners rose.

U.S. regulators and lawmakers are considering a range of ideas to get tougher. Many of them focus on changing the system under which the top ratings firms -- including Moody's Corp., McGraw-Hill Cos.' Standard and Poor's and Fimalac SA's Fitch Ratings -- receive fees from the issuers they rate.  The SEC passed some rules in December, including banning analysts who help negotiate fees from rating debt, but the range of opinions about further action remains wide.

The SEC held a roundtable Wednesday where much of the attention was focused on ways to minimize potential conflicts of interest.  Critics say the pay structure leads companies to shop their business to the firms that will furnish the highest rating. The so-called issuer-paid model accounts for 98% of ratings. Other credit-rating firms are paid by investors who subscribe to the rating service. 

The next sentence of this Wall Street Journal article says: “At the roundtable, some participants suggested all firms should switch to the investor-paid model.”  In the March 30 Wall Street Journal article entitled “The Future of Credit Markets” that you read for class, Myron Scholes says that “one of the problems we talked about for rating agencies themselves was the idea that if the investor pays, there’s a free-rider problem…”  

(a)  (10pts)  Consider the Originate-to-Distribute experiment from class on April 9.   In this experiment, was there a free-rider problem from having the security buyers pay for the credit rating?  Explain your answer. 
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(b)  (10pts)  In the Originate-to-Distribute experiment, suppose the seller of the securities had paid the credit rating agency for rating the securities.  Would the seller have had an incentive to shop her business to the credit-rating firms who would “furnish the highest rating?”  Explain your answer.

5. (5pts)  Define bank capital.

6.  Consider the March 30, 2009 Wall Street Journal interview with Treasury Secretary Timothy Geithner that you read for class.   Use this information to answer parts (a) and (b).

(a)  (5pts)  According to Mr. Geithner, what is the goal of the public-private toxic-asset buying partnership?   What role does bank capital play in this goal?
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(b)  (5pts)  According to Mr. Geithner, what won’t this partnership do, and why?
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